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ST ANDREW'S Carnedear Sesooi’
Year 10.Advanced Mathematics
7 Topic_ Similarity .
WORKING NEEDS TO BE SHOWN FOR ALL QUESTIONS

Ques.1.
Using O as the centre of enlargement and a scale factor of 2 draw the enlargement.

=

Ques.2. :
In-the diagram below list the two pair of corresponding sides.

Ques.3. %D

The following quadriléterals are similar. Find the value of x and y.
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‘Ques.4. .
. In the following diagram find the height of the tree.
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Ques.5. Inthe following diagram find the value of x and y.

Ques.6. -

In the figure at the side D divides BC in the

Ratio of 2:3.,AC{ED, BA=35m.

(i) Prove that- 2N ER LD |1} &8 RBC ?Evmj reafing,

(i) What i the ratio of BD to BC?

-------------------

(i) Find the length of BE. ..., Ciaia il _ _
" (iv) Find the length of EA. IR PPPRNTR — . - N
(v) Find the ratio of BE to EA. e Ee i .o

. g ) 'l Ao . [
Ques.7.(a) Find the . vaTie &é e an ee cytém QW\J(M ﬁlMﬁé i Ha i adas
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: (b) If the area of the smaller ellipse is 18 0 m”* find the area of the larger ellipse
correct to 1 decimal place.
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Ques. 8. If the dimensions of an equilateral‘ triangle are trebled, how is the area

affected?
Ques.9.
The solids below are similar. Find the ratio of their volumes. s
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Ques.10.

Two similar vases were made of clay. The smaller one-was 40cm tall and had a

volume of 2625 cm’® and heeded 100ml of colouring to complete three coats. If the
height of the smaller vase is 90cm how many ml of colouring will be required fov 3 Cacks
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WORKING NEEDS TO EE SHOWN FOR ALL OdeHHOZm

Ques.1. }
Using O as the centre of enlargement and a seale factor of 2 &mﬂ the enlargement.
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Ques.2.
Inthe diagram below list the two pair of corresponding sides. \
A ; . .)..n tovvenpards o bE \
g S - |
Ques.3. M B x _ 2%
The following quadrilaterals are similar. Find the valeeofxandy. %y T 3¢
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"Ques.4. ad

In the following diagram find the height of the tree.

Page 2.
Ques.5. Inthe following diagram find the value of x and y.
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Quess. 7

In the figure at the side D divides BC in the
Ratio of 2:3, ACIED, BA=35m.

(i) Prove that-&=Z& 05 1 A8 m:\:)w realins,
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(i) What i¢ the ratio of BD to BC? .

(iif) Find the length of BE. i%* $
" (iv) Find the length of EA. T o ST .
(v) Find the ratio of BE to EA. S-S

' y < L0 a N?\
Ques.7.(a) Find the . e ¥t m.m e amcon. @%.&M m.rsLmv\ ﬂv;\vdm‘ Iy rndiae
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{b) If the area of the smaller ellipse is 18, o m? find the area of the larger ellipse
corzect to 1 decimal place. Nyﬂ
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